### State of Florida



# **Public Service Commission**

CAPITAL CIRCLE OFFICE CENTER • 2540 SHUMARD OAK BOULEVARD TALLAHASSEE, FLORIDA 32399-0850

-M-E-M-O-R-A-N-D-U-M-

**DATE:** June 10, 2025

**TO:** Adam J. Teitzman, Commission Clerk, Office of Commission Clerk

FROM: Ailynee Ramirez-Abundez, Public Utility Analyst II, Division of Engineering ARA LK

**RE:** Docket No. 20240105-SU – Application for staff-assisted rate case in Polk

County, by West Lakeland Wastewater, LLC.

Please place the attached email and documents provided by Mr. Smallridge, regarding "West Lakeland's Mission Auto Dialer Proof of Payment", in the docket file mentioned above.

ARA/da

Attachments

cc: Office of Commission Clerk (Docket No. 20240105-SU)

From: <u>Mike Smallridge</u>

To: Ailynee Ramirez-Abundez

Subject: West Lakeland proof of payment

Date: Monday, June 9, 2025 2:27:36 PM

Attachments: doc11522420250609121938.pdf

CAUTION: This email originated from outside your organization. Exercise caution when opening attachments or clicking links, especially from unknown senders.

Please see attached proof of payment for west Lakeland auto dialer per you request. Mike

# Invoice

## **Consta Flow Inc**

5574 Commercial Boulevard Winter Haven, FL 33880 (863) 965-2599 Jennifer@constaflow.com

DATE	11/05/2024		
INVOICE#	6537		
TERMS	NET 30		
DUE DATE	12/05/2024		

#### **BILL TO**

West Lakeland Wastewater 5911 Trouble Creek Road New Port Richey FL 34652 (863) 232-7969

#### **SERVICE LOCATION**

West Lakeland Wastewater 5911 Trouble Creek Road New Port Richey FL 34652 (863) 232-7969

JOB#	DATE	PO/REF#	DESCRIPTION			
1018678557	10/31/2024		Install Mission auto dialer at boat ramp lift station.			
Job Charges			Qty	Rate	Total	
Service Technician			14.00	\$145.00	\$2,030.00	
Mission Auto Dialers			1.00	\$4,279.38	\$4,279.38	
Float 50 ft, NC (RED)			1.00	\$164.85	\$164.85	
Float 50 ft, NO (Green)			1.00	\$164.85	\$164.85	
Unistrut Aluminum Long 1-5/8"			5.00	\$20.00	\$100.00	
Conduit Flexible .50"			2.00	\$5.05	\$10.10	
Coupling Flexible .50"		2.00	\$4.69	\$9.38		
Wire Bolts, Nuts, Freight		1.00	\$250.00	\$250.00		
SQD Surge Protective			1.00	\$250.57	\$250.57	
Power Supply Module			1.00	\$72.80	\$72.80	
Control Relay			2.00	\$62.80	\$125.60	
Job Subtotal					\$7,457.53	
FL Tax				7.00%	\$522.03	
Job Total					\$7,979.5 <b>6</b>	

PRE-WORK SIGNATURE	POST-WORK SIGNATURE		
Signed By:	Signed By:		
CUSTOMER MESSAGE	Invoice Total:	\$7,979.56	
:	Deposits (-):	\$0.00	
4	Payments (-):	\$0.00	
· ···· ··· ··· ··· ·· · · ··· ··· ·· · ·	Total Due:	\$7,979.56	

# WEST LAKELAND WASTEWATER LLC

	West Lakeland Wastewater LLC 5911 Trouble Creek Road	sberla Bank	1564
New Post Richey, FL 34552 (727) 937-3293			11/5/2024
PAY TO THE ORDER OF	Consta Flow Inc	s	**7.979.56
Seven '	Thousand Nine Hundred Seventy-Nine and 56/100***	***************************************	DOLLARS
	Consta Flow Inc.		•
	5574 Commercial Blvd Winter Haven, FL 33880		1 /
MEMO	TO THE THE TIPLE TO THE TENTON	· n	<i>d</i>
	G- SCC-PTT-12A1_NESHIC	MITHORE MATERIAL G.	IN SOMETURE

CK 1564 REF 4000366530 PD 11/27 AMT \$7,979.56